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cos(x)

1) Calcule ¢/(x) si y(z) = Arctg(z) — + 7.2 Te
(30 puntos)
Solucion:
y(z) = Arctg(z) — + ij_(xg) +e=
y(2) = [Aretg(@)) = (1) + [F2] + (o) =
cos(x)) (14+x2)—cos(x z?)
y/(x) _ ﬁ N (:U_l)/ + (cos(z)) (1"‘(1_21”2)2 (z)(1+2*) +0=
y' () = 1_,_1$2 + 7%+ —sen(z) (1(41—136)2;;05(@(230) D
2) Obtenga % si y=e" —sec(x)
(30 puntos)

Solucion:
y=e" — s;ec(x) = 2 )
y'(z) = (e¥) — (sec(x)) = €% (z?) — sec(z) tg(x) = 2z ¥ — sec(x) tg(x)
y'(2) = T = (2w e”Y — (sec() ty(x)) =
(22)' € + 22 (656 )" = [(sec(x)) tg(x) + sec(x) (tg(x))'] =
) tg(x
)

2(3‘"“2 + 22z e” — sec(x) tg( )— sec(x) sec’(z) =
2e” +4a? e” — sec(x) tg?(x) — secd(x)



